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Foundations for College Algebra
- University of North Georgia

Fall 2016
Exam #3
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For full credit, ALL work must be shown N
! Any “valid” checks are w01th an additional point per question,

FOLLOW DIRECTIONS!
Multiply the following polynomials
1. —3x2(5x% +8x% —2x +4)
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Factor the following, completely. Note: determine what type of “factoring™ is possible —

Factoring out GCF, Factoring by Grouping, ac & b Method, Difference of Two Squares, or
Sum/Difference of Two Cubes.
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Solve the each equation by factoring,

10. x* + 2x = 35
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Simplify the rational expression completely. [ r’e /" /
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